
The process of ‘marginal analysis’ in theory 
 

 

  

 
  

 
  

 

a. Benefits and costs can be measured 
in £s 

b. Treat those who benefit most 

Benefits/costs (£) Benefits/costs (£) 

Number of heart
procedures 

Number of hip 
procedures 

c. Benefits diminish for each 
additional patient treated 

Benefits/costs (£) Benefits/costs (£) 
 

Number of heart
procedures 

Number of hip
procedures 

MBhearts 

d. Continuous downward sloping 
‘curve’ 

Benefits/costs (£) Benefits/costs (£) 

MBhearts

Number of hip 
procedures 

Number of heart
procedures 

 

 
Benefits/costs (£) Benefits/costs (£) 

MBhearts

Number of hip 
procedures 

Number of heart
procedures 

 

e. Same for hips, but different slope 

Benefits/costs (£) 

MBhips 

MBhearts 

Number of hip
procedures 

Number of heart 
procedures 

 
Benefits/costs (£) 

f. Equal marginal costs 

Benefits/costs (£) Benefits/costs (£) 

MBhearts

MBhips

MChips,hearts 

Number of hip 
procedures 

Number of heart
procedures 

 

Benefits/costs (£) Benefits/costs (£) 

MBhips

Number of heart
procedures 

Number of hip 
procedures 

MChips, hearts 

Starting point for 
hearts 

Starting point for 
hips 

MBhearts

 

h. Move resources from hips to hearts, until ratios 
are equal (as indicated by dashed horizontal line) 

Benefits/costs (£) Benefits/costs (£) 

MBhearts 

Starting point for 
hips 

MChips,hearts

MBhips Starting point for 
hearts 

Number of hip
procedures 

Number of heart 
procedures 

 

g. Where do we go from here? 



 


